Seat No.

Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C321102

Subject Name: ELECTRONICS NETWORKS
Time: 10.30 AM TO 12.00PM

Instructions:

1.

Attempt all questions.

Date: 14-06-2017

Total Marks: 70

2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option. Ul sl (AscAl.
The unit of capacitance is
1. | A Farad B. Coulomb
C. Henry D. Weber
(e ol AsH
q. EER B. | sctaot
C | &l D. | Quz
Two capacitors 4 uF and 6 pF are connected in parallel then total capacitance is
2. | A 10 uF B. |2uF
C. | 1/10 uF D. | 12/5uF
A 3URRR 4 pF U 6 pFal UHAR HL Ascll sct SUREY
~ |A | 10uF B. |2uF
C. | /10 yF D. | 12/5puF
The unit of inductance is
3. | A. | ampereturns B. | weber
C. | ohm D. | henry
Bo5520 oll WSH
3. | A | AVaRedd AuR
C. | ulen D- | &A1
Energy stored in inductor is
4. A. | W=1/2 LI? B. | W=1/2 CV?
C. | W=1/2CL? D. | None of these
805522 HL AUe AAC Bl
¥. | A | W=1/2 L1 B. | W=1/2 CV?
— 2
C. [w=12CL D. |32 odl
When 20Q & 300 resistors connected in series the total resistance is
5. A. |50Q B. [10Q
C. | 600Q D. |70Q
%212 20Q & 30Q otl ARA2A A AR HL A cAHL WA Al 5A Aeo
4 TA [500 B. [10Q
C. | 600Q D. |70Q
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Which one is passive element

6. |A |BJT B. | Resistor
C. | FET D. | Op-amp
o(lAotl Wil sl VAl AARe &
C. |FET D. | Op-amp
The point at which two or more elements meet is called
7. | A. | branch B. | node
C. | loop D. | mesh
A 3 Al ay AdNoe ¥ oz UR HA Axl 9 séclld
9. |[A | uiu B. | alls
C.ldqu D. | A9
Dual of inductance is
8. | A. | capacitance B. | conductance
C. | resistance D. | Voltage source
BoS52eU of SYWME
C. 3R B. | ses52
B D. | Qi@ A
The internal resistance of ideal voltage source is
9. |A 0 Q B. [10
C. |10 Q D. |©Q
UBsH Ay A oll UiAs wWaARAY Fedl sl
¢c. A JoQ B. [10
C. |10 Q D. |©Q
Dual of voltage is
10. | A. | current B. | resistance
C. | conductance D. | inductance
A% of SYUA 9 O
. |A | s I
C. |ssseu D. | gssea
Which is used in mesh analysis ?
11. |A. | KCL B. |KVL
C. | Kramer rule D. | None of these
Nl Aotl(@AA UL Y AuRlU B?
1. |A. | KCL B. | KVL
C. | 3u2 3ct D. | Q¥a o2
Any linear bilateral network having energy sources and resistances can be replaced
by equivalent circuit consisting of voltage source in series with an equivalent
12 resistance.” Is a statement of which theorem?
" | A. | Norton’s theorem B. | Thevenin’s theorem
C. | Maximum power transfer D. | None of these

theorem
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S8 (AU UBARAH A2ads § Ba
UAHG@AA URUA ¥ BuL e AR

Aot AU A AR sl A A
U Aol AL W alat Aettell

1. | olecll asla B Al cls sl (DAM of & ?
A | léet ol [Raru B. | 2@t ol @2z
C. | AERAHH waR gizg2 Razd | D [ A3 R
When the image impedances of port 1-1” and port 2-2’ are equal to each other then
13 image impedance is called
" | A. | Characteristics impedance B. | Transfer impedance
C. | Driving point impedance D. | Iterative impedance
AR WE 1-17 Al WE 2-2° ol SRASU Asollost WA Uil A Al Ry SRASH o 9
56 O ?
3. | A | BrsedrRs sRsu B. | olus? s
C. | stsldol Wdse s D. | ¢23Ra 8RS
If electrical properties are changed when input and output terminals are interchanged
14 the network is called
" | A. | Symmetrical network B. | Asymmetrical network
C. | Input network D. | Output network
Botye U wlBeye 2flad ueddl sAsglsd VUl slectiad dl Al azds o
. | A | R s Az B. | RN s ek
C. | 8atye Aeab D. | 2uGeye Az
Relationship between characteristics impedance of symmetrical T and & network is
15. | A. | (Zon )*( ZoT )=217Z2 B. | (Zon)*(ZoT)=22/71
C. | (Zon)*( ZoT )=21/72 D. | None of these
RALsA T Ul 1t Aectd ol 33selRRs SRSU A Y Uolu B 2
W A (Zom )*( ZoT )=Z172 B. | (Zon)*( ZoT )=22/71
C. | (Zon)*( ZoT )=21/72 D. | None of these
The algebraic sum of current meeting at a junction is zero —it is a statement of
16. | A. | KCL B. | KVL
C. | KPL D. | ALL OF THEM
As 5ol UR HOldl Gltl Yadl oll AR god A & — L [Qtuot Sl B 2
1s. | A. | KCL B. | KVL
C. |KPL D. [ a3t ot
The two Laws which form basis of circuit analysis were stated by
17. | A. | Kirchoff B. | Faraday
C. | Ohm D. | None of these
A (2 ¥ Boll AUR UAs2 AAQRU &A & A Slal Al B
. | A | BUls B. | 333
C. | a0a D. | Ay o3
2IR+XE.M.F.=0 equation represent
18. | A. | KCL B. | KVL
C. | Ohm’s law D. | None of them
L EIR+ZE M.F.=0 equation represent
" A, |KCL |B. | KVL
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C. | aat ol Qan

D.

A¥Y o3

Load current in thevenin’s equivalent circuit is given by

19. | A. [ Vth/(Rth+RL) B. [ (Vth*Vth)/Rth
C. | Vth/Rth D. | None of these
Aot (A AAs2 ol AS 522 Y & ?

¢, | A [ Vth/(Rth+RL) B. [ (Vth*Vth)/Rth
C. | Vth/Rth D. | A3 AR
Dual of Open circuit is

20. | A. | Open circuit B. | Short circuit
C. | Voltage source D. | None of these
AUt UEe of sy

0. | A | Auet ulBe NERER
C. | Ay Al D. | a2 o3
The quality factor of capacitor is

21. | A. | Qc=oC/R B. | Qc=oCR
C. | Qc=1/oCR D. | None of these
FURERR ol sAAZ] ¥seR 9 O
A. | Qc=oC/R B. | Qc=oCR

R14. —

In series R-L-C circuit if R=1ohm ,L=1H and C=1F then fr=

22. |A. | (12m)Hz B. | 2n)Hz
C. | (2/m)Hz D. | (I/m)Hz
R(R% R-L-C (32 UL %l R=1ohm ,L=1H and C=1F &l d fr=

2 A [(12n)Hz B. [ (2mHz
C. | (2/m)Hz D. | (1/m)Hz
Selectivity=

23. | A. | fr/IBW B. | fr*BW
C. | BW/fr D. | fr-BW
RAGQR -

3. [A [frlBW B. | fr"BW
C. | BW/fr D. | fr-BW
Mutual inductance is a property associated with

24. | A. | One coil B. | One resistor
C. | Two or more coil D. | None of these
122U Bosse YU Sloll WA At B

¥. | A | As Asct B. | As e
Colayadl auR slsa D. | 32 o3
Transformer works on

25. | A. | Kirchoff’s law B. | Faraday’s law
C. | Snel’s law D. | None of these
2SR sloll GUR sIH 53 ®

U | A | Bals ot Qan 323 oll (Aan
C ad ol Qant D. | Ay o3

26. | For Doubly tuned air—core transformer
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A. | Itis used in Radio receiver B. Has both sides of transformers are
tuned

C. | Itisused to increase Bandwidth | D. | All of these

SUA Yol AR SR 2RJLIR W2

6. | A | AN RRAR 1l crwrta ® [ B | ol i weSs et fla ®
Clads@a aural auta ® | D | A3at o3
Attenuator is used in
27. | A. | Testing laboratories B. | Volume control of radio receiver
C. | All of these D. | Volume control of tv receiver
AR AML AURAA B
0. |A | AcllRedl 2:8lat mt B. | 330 RRR oll Aeyu $2ct ML
Co o\ D. | Q.cl. RRR ott AR 52 HL
Attenuator is purely
28. | A. | Inductive network B. | Resistive network
C. | Capacitive network D. | None of these
AeoyeR A §5cl
. | A | Essdla Aeas B. |1 :3@a Aead
C. 13 RRA Aead D. | Ay o3
In symmetrical lattice attenuator with characteristic impedance Ro and attenuation N
29 the resistance of series arm is given by
" [ A, [R1={Ro(N-1)}/(N+1) B. [ R1={Ro(N)}/(N+1)
C. | R1={Ro(N+1)}/(N-1) D. | R1={Ro(N-1)}/(N)
RARsH ARU AN2cyeR ¥ Boll 352RRRs SUSU Ro Wal W2a2let N 8l l
oc. | RR AL ol ABEU 9w
A. | R1I={Ro(N-1)}/(N+1) B. [ R1={Ro(N)}(N+1)
C. | R1={Ro(N+1)}/(N-1) D. | R1={Ro(N-1)}/(N)
Amplitude equalizer are used in
30. | A. | Speech reproduction B. | telephony
C. | Transmission lines D. | All of these
ANSYS BSAASB AML AURA B
30. [A | alla Adlssuet B. | 2@8-{
C. | ala@atet cuse D. | oty w
For symmetrical-T attenuator has 40 db loss and load impedance of 300 Q then value of
31 R2 is
A | 3Q B. | 6Q
C. |4Q D. |5Q
RALsA-T W2ofeR HI2 40 db AR A AlS BASA 300 Q dlal dl R2 ol (U
3% [A. [3Q B. [6Q
4Q D. |5Q
It passes certain band of frequencies.
32. | A. | Band stop filter B. | All pass filter
C. | Low pass filter D. | Band pass filter
UL glsclAl ol Y5 s ol WA 52 B
3R. -
A s @R Bee? B. | e wat Beer
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Cola wa Beer D. | als wat Beer
For constant k type high pass filter

33 A. | fc=1/(4n/sqrt(LC)) B. | fc=1/(4ntsqrt(LC))

" | C. | fe=1/(4n-sqrt(LC)) D. | fe=1/(4n*sqrt(LC))

slkee ktype 8l8 WL ($e2R U2

33. A | fe=1/(4n/sqrt(LC)) B. | fc=1/(4n+sqrt(LC))
C. | fe=1/(4n-sqrt(LC)) D. | fe=1/(4n*sqrt(LC))
A T or m network is called constant-k type if

34. | A | Z1Z2#K*K B. | Z1Z22=K*K
C. | Z1/22#K*K D. | Z1/Z22=K*K
T n olead o slxde-k type sdcll 3l

3%. A [ Z122#4K*K B. |Z1Z2=K*K
C. | Z1/22#K*K D. | Z1/Z22=K*K
In m-derived filter value of m is

35 [A | m>1 B. | m<0
C. | 0<m<1 D. | 0>m>1
m-derived ($c22 12

3 TA Tm>1 B. | m<0
C. | 0<m<1 D. | 0>m>1
Frequencies between 1000 Hz to 2100 Hz should pass. All other frequencies should

36 stop. Which filter should use

" | A. | Low pass B. | High pass

C. | Band pass D. | Band stop
1000 Hz &l 2100 Hz aRa{l glscixll Wt aaL. ofley well Rzl uig sl
(3R Ml wal

36. -
A dls R (Beer Lt U (3ee?
Cold wa Beer D. | als wat Beer
In constant-k type filter value of (k*k) is

37. |A. | C/L B. |1/LC
C. |L/IC D. |LC
constant-k type H(2 (k*k) ol Acy

39. [A. [ CIL B. [1/LC
C. |L/IC D. |LC
Inductance is the ability of a coil to oppose.

38. | A. | Current B. | Voltage
C. | Current change D. | Voltage chnge
Bssed A SIB8A oll 9 (AAU scllell ORI uAA & ?

3¢. | A | yas B. | A
C. lyaus ¥Rs2 D. | Qe ¥2s12
Two inductuctors are in series their equivalent will be

39. | A | L1+L2+2M B. |L1-L2
C. [(L1+L2)/(L1L2) D. | none

3e Q 805522 ol R UL MSscll UREUH g wa

A. | Li+L2t2M

| B.

[L1-L2
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(Li+L2)/(Lil2)

A¥2 B

If Zoc =120Q and Zsc=30Q2 , the characteristic impedance is

40. | A. | 30Q B. | 60Q
C. | 120Q D. | 150Q
%\ Zoc =120Q and Zsc=30Q 8lad dl 3523 sASU
80. A [30Q B. [60Q
C. | 120Q D. | 150Q
Which of the following quantity remains same in parallel circuit
41. | A. | Current B. | Voltage
C. | Current and Voltage D. | None of these
WAd Uz 1 el 58 AR oed oile
¥a. | A | yas B. | Acx
C.o | yats wal Ay D. | a3 o3
Three resistance of 2 Q each are connected in star. In equivalent delta representation
42 each resistance will have a value of
AL ] 3.4Q B. | 6Q
C. |0.6Q D. |52Q
AL MR ofl wAR sA&tel WL BHA 20 B A vell URRUHL 3cel sagtet HL
wo | €35 ol (3Ud
A. | 3.4Q B. | 6Q
C. |0.6Q D. |52Q
Electrical current cannot flow if the circuit is .
43. | A. | open B. | close
C. | short D. | loose
@Qaycle of U2 Wl dget oll U A
¥3. | A | 3lUet SA%
C. e Dy
An ideal voltage source should have
44. | A. | Large emf. B. | Zero internal resistance.
C. | small emf D. | none of these.
UBsA cdlee WA o g &lg AsA
¥y, | A [ s.aAnAs. BA wiBs wcRd
C. | otlef . ANAS. D. | Ay o3
Ideal current source should have
45. | A. | large value of current B. | infinite internal resistance.
C. | zero internal resistance. D. | low value of voltage
UBSAH 522 A o 9 8lg HsA
¥u. | A Q8 Acy ol 522 B. | uoict wiBs mcRu
C. | B AR5 wcRAy D. | stell Acgy ott Qe
If a circuit does not contain any source of energy or emf, it is known as
46. | A. | unilateral circuit. B. | bilateral circuit.
C. | active network. D. | passive network.
¥s. | Al Uz ¥ Bl 518 Ul Aot A 3 8. AHAS. oll Slad dal 9 sdcud
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A | Y@RAZrA Aead B. | suS@22ect Aecih
C. Al A2ab D. | QR Az
If a SK Q resistor is placed across a 10v supply, the current will be
47. | A. | 20mA B. |2mA
C. [0.02mA D. |0.2mA
%l 5K Q oll R 10v ALl HL Y[3A ol $22 9 HA
¥9. [A. [20mA B. [2mA
C. [0.02mA D. |0.2mA
The circuit whose properties are same in either direction is known as
48. | A. | unilateral circuit. B. | bilateral circuit.
C. | irreversible circuit D. | reversible circuit
Al ulSe ¥ BHL e Bauw HL AR sAH WU AHLat 8l sl Aa
¥e. | A | YRAzA Aead B. | cuss@2et Aecid
C. | 8RRl Aead D. | RaRlotct Azcib
KCL is applied at
49. | A. | Junction B. | Closed path
C. | Branch D. | Resistors
KCL AHL cURA B
¥e. | A | afsalel ol uRu
C. | wix TR
Superposition theorem can be applicable to
50. | A. | Passive elements B. | Linear bilateral network
C. | Non-linear bilateral network D. | None
YURU(Ret @M AHL cuRjA B
wo. [A | AR« Al@Ne @QARAR WSASRA Aectd
C. | alel@RaR cusazre Aeas | D | Ay o
At resonance
51. |A. | XC>XL B. | XC<XL
C. | XC=XL D. | none
Rl UHA
. A [TXC>XL B. [XC<XL
C. | XC=XL D. | none
A series RLC circuit has a resonance frequency of 160 kHz and a Q-factor of 100. Its band
59 width is
" | A | 1.6 kHz. B. |0.625kHz
C. | 16 MHz. D. | None of these
% 516 RR3 RLC UB2 A Aot (35<iall 160 kHz U Q-factor 100 lat Al Aol
wo. | As@Qa decll sla
A. | 1.6 kHz. B. | 0.625kHz
C. | 16 MHz. D. | None of these
Unit of Quality factor Q for a coil is
53. | A. | Watt B. | Joule
C. | Henry D. | Nounit
518 ol sAAZ] %522 Q oll AsH 9 B
us.
Al de B. | ot
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C. |3l D. | Asu otall
Power factor at resonance is equal to
4. A |1 B. |0
C. | Can’t be determined D. |141
A drd UlaR ¥s5eR 9 Al
uy. A |1 B. |0
C. | el ot asia D. 141
Inductive reactance equal to
55. | A. | 2=fL B. | 1/2=fL
C. |2nfC D. | none
§s5lal RUsEU A Sloll GRIGIR Al
WA 2nfl B. [1/2afL
C. |2x=fC D. | none
The unit of flux is
56. | A. | Henry B. | Weber
C. | Ohm D. |Joule
S oll AUsH Y B
us. | A | 3l B | o
The primary and secondary winding of transformer are linked each other by
57. | A. | Conduction B. | Mutual inductance
C. | Self inductance D. | None of above
2151HR allylaAHZ] A A5 AT Sloot Asollost AL Aotl YL SsAc Sl B
wo. | A | S35t B. | 1222 B552U
C. | ey Bgseu D | aada o3
Which one is not phase equalizer
58. | A. | constant K B. | series type
C. | shunt type D. | Full series
L 57 305 8sAAUSRR otell
uc. | A | leée K RR» aisu
C. lee au D | st QR
An attenuator contains
59. | A. | Resistances network B. | RL network
C. | RC network. D. | LC network
AR Y URAA B
ue. B Aeab B. | RLAZAS
RC Azalb D | Lc Aeas
The frequency which separates the pass and and stop band is known as
60. | A. | Audio frequency B. | Radio frequency
C. | Cut-off frequency D. | Resonant frequency
WHAS Aol RUUAS ol AL 5l (Bs<l@ A 9 sdau
0. : .
A | ARA G5 B. | 3Ra Bsd@
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C. | se-2ls (3sd@ D. 1 33eie (3sc@
Passive filters not uses

61. | A. | capacitor B. | inductor
C. | Operational amplifier D. | None of above
AR (eer g otell aturd

sh. | A | ¥le? B. | §sse?
C. [ Rudaetd AT s2AR D. | a3 o3
Find quality factor of inductor. L=50H, ®=2,R=20Q

62. |A. |5 B. |10
C. |15 D. |20
89522 of sAA] ¥s522 2NC. L=50H, ©=2,R=20Q

S2. A |5 B. 10
C. |15 D. |20
Find bandwidth for f1=100Hz, f2=250 Hz

63. | A. | 350 Hz B. | 50Hz
C. | 150 Hz D. | 100 Hz
f1=100Hz, f2=250 Hz HI12 Als(Ae 9

53. [A. [350Hz B. [50Hz
C. | 150 Hz D. | 100 Hz
Fix attenuator is called

64. | A. | Shunt B. | Pad
C. | Equalizer D. | None of these
(35 W2oyeR oA 9 sdalA

s¥. | A |2 s
C. | gsQeusnsR D. | A3 o3
Which is phase equalizer?
A. | Lattice B. | Shunt

65. | C. | Series D. | Full shunt
5 %0 85AAUT N B?

su. | A | ARy 92
C | RR» D. | st 9le
Loss in dB for attenuator is given by

66. | A. | 10logl0(Pi/Po) B. | 20log10(Pi/Po)
C. | 10loge(Pi/Po) D. | 20loge(Pi/Po)
AofA2R U2 dB Hl A Aetledl olclaua

$S. ['A. ] 10log10(Pi/Po) B. [ 20log10(Pi/Po)
C. | 10loge(Pi/Po) D. | 20loge(Pi/Po)
Relation between dB and Neper is

67. | A. | dB=8.686xlogeN B. | dB=8.686xlog10N
C. |dB=0.868xlogeN D. | None of these
dB ol Neper a1 9 Holu &

9. | A. | dB=8.686xlogeN B. | dB=8.686xlog10N
C. | dB=0.868xlogeN D. | a3 o

68. | Notch filter is
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A. | Band stop filter B. | Band pass filter
C. | High pass filter D. | Low pass filter
AU (3eeR A ¥q (52 B
A | dls R (e s w Beez
SC1C | a8 wat Bee? D. | A wat (e
For constant k high pass filter L is
69. | A. | L/4xfc B. | k/4nfc
C. | Claxnfc D. | None of these
slkee k 6l8 W (e Wik L ol Acy 9 aa
S¢. | A. | L/4xfc B. | k/4nfc
Find loss in dB for Pi=100,P0o=10
70. |[A. |20 B. |10
C. |30 D. |15
Pi=100,P0=10 Hl2 dB Hl Al 20t
90. A 20 B. [10
C. |30 D. |15
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